INFIQ GRADE 1 WORKSHEETS

Subtract Up To 20 - Word Problems

Name Date

Solve the following word problems.

lan has 15 pairs of trousers. He gives 7 pairs of trousers to his dad. How

" many pairs of trousers does lan have left?

pairs of trousers
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Madison's living room has 2 tables. She removes 1 table. How many

. tables are leftin Madison's living room? m‘

tables
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Evelyn's garden has 19 trees. 1 tree is cut down. How many trees are left

«inEvelyn's garden? T
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- Alia has 16 gifts. She gives § gifts to her students. How many gifts does
- Alia have left?

gifts

Download the Curriculum-based INFIQ Digital Workbook from the App Store for UNLIMITED QUESTIONS

www.infig.education

INFINITE QUIZZES




